
067.68 Centre.xls (CEN) (1_

1=
2= z"?sf] 
3= 10= ?= 45714 11= ?= 45714
4= ?= 45714 ?= 45714
5= ?= ?=
6=  ?= ?=

?= 1= C)f ?=
?= ?=

7= 12=
8= ?=

9= ?=
?=

1= C)f ?=
?=

 2067÷068 cf=j=sf]=

ah]^ ah]^ ah]^ ah]^

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27

1 0.48 90 0.48 90

2 1.64 305 0.54 100 1.10 205

3 1.53 285 1.08 200 0.46 85.00

4

I 0.81 150 0.54 100 0.27 50.00

5 4.84 900 1.61 300 3.23 600.00

6 0.26 48 0.26 48

7 0.26 48 0.26 48

8 3.23 600 1.61 300 1.61 300.00

9 4.84 900 2.42 450 2.42 450.00

10

I 3.23 600 2.15 400 1.08 200.00

II 2.42 450 1.61 300 0.81 150.00

– 23.54 4376.00 0.54 100.00 13.13 2441.00 9.87 1835.00

1 10.4105 2010 5.9181 1100 3.6854 735 0.807 175

I k^s 4 3.63 675 2 2.69 500 2 0.94 175

ah]^ km/fd g+= 6=12=1=1
/fof]=cf= -s]cd"_ kmf=g+= 1
kfgf g+= 1

jflif{{s sfo{qmd
cf=j= 2067÷068                                  -ah]^ th"{df;+u ;DalGwt cf=k|= lgod 21-1_ adf]lhdsf] kmf/fd_  (/sd ?= xhf/df_ 
ah]^ pklzif{s g++= 38÷3÷406÷38÷4÷406 ;+zf]lwt
dGqfno M pBf]u jflif{s ah]^ cfof]hgfsf] s"n nfut
ljefu . ;+:yf gfd M #/]n" tyf ;fgf pBf]u ljsf; ;ldlt s= cfGtl/s M 1= g]kfn ;/sf/ s= cfGtl/s 1= g]kfn ;/sf/ 
sfo{qmd . cfof]hgfsf] gfd M #/]n" tyf ;fgf pBf]u ljsf; sfo{qmd 2= :yflgo lgsfo÷;+:yf 2= :yflgo lgsfo÷;+:yf
:yfg M 3= hg ;xeflutf 3= hg ;xeflutf

s= lhNnf M s]Gb|:t/ v= j}b]lzs 1= C)f v= j}b]lzs
v= uf=lj=; . g=kf= j*f g+=    2= cg"bfg 2= cg"bfg
cfof]hgf z"? ePsf] ldlt M ;fnj;fnL u= ;^xL b/ M ut cf=j=;Ddsf] vr{ ?=-;f]em} e"QmfgL / j:t"ut ;d]t_
cfof]hgf k"/f x"g] ldlt M s= cfGtl/s 1= g]kfn ;/sf/ 

cfof]hgf sfof{no k|d"vsf] gfd M ljhos'df/ ofbj #= bft[ ;+:yf M 2= :yflgo lgsfo÷;+:yf
3= hg ;xeflutf

v= j}b]lzs
2= cg"bfg

qm=;+= sfo{qmd÷lqmofsnfk OsfO{ n}+lus
ul/aL 
Go'gLs/
)f

cfof]hgfsf] s"n 
lqmofsnfksf]

;Dk")f{ sfo{dWo] ut 
cf=j=;Ddsf] 

 ============== cf=j=sf]   
jflif{s sfo{ nIo

s}lkmot

kl/df)f nfut ef/ ;DkGg 
kl/df)f nfut efl/t 

k|ult kl/df)f k|ult 
cg"dfg

vr{ cg"d
fg

jflif{s nIo k|yd rf}dfl;s nIo bf]>f] rf}dfl;s nIo t]>f] rf}dfl;s nIo

kl/df)f ef/ kl/df)f ef/ kl/df)f ef/ kl/df)f ef/

c_ k'+hLut vr{ cGtu{sf sfo{qmdx?

sfof{nosf] nflu kmlg{r/ vl/b

k|lzIf)f pks/)f tyf d]lzg cf}hf/ vl/b

k"lh+ut ;'wf/

cg';+wfg tyf ljsf; -R&D_

pko'Qm k|ljwL ljsf; tyf lj:tf/

pko'Qm k|ljwL x:tfGt/)f

df}/Lkfng >f]t s]Gb| :yfkgf / ;+rfngsf nflu kmlg{r/

l;js y|f]g -*fn]r's_ >f]t s]Gb| :yfkgf / ;+rfng nflu kmlg{r/

df}/Lkfng >f]t s]Gb| :yfkgf / ;+rfng d]lzg cf}hf/ vl/b

l;js y|f]g >f]t s]Gb| :yfkgf / ;+rfng d]lzg cf}hf/ vl/b

dlxnf pBdL ljsf; sfo{s|d

pBdL ljsf; sfo{s|d

pBf]u k|j{wg sfo{s|d

s_ k+"hLut vr{ sfo{qmdsf] hDdf

cf_ rfn" vr{ cGt/utsf sfo{qmdx?

cg';+wfg tyf ljsf; -R&D_

cf}wf]lus tyf j:t' ljsf; ;+efJotf cWoog

cfof]hgf ÷ sfof{no k|d"v ljefuLo ÷ ;+:yf k|d"v k|dfl)ft ug]{

ldlt M ldlt M ldlt M



067.68 Centre.xls (CEN) (2_

1=
2= z"?sf] 
3= 10= ?= 45714 11= ?= 45714
4= ?= 45714 ?= 45714
5= ?= ?=
6=  ?= ?=

?= 1= C)f ?=
?= ?=

7= 12=
8= ?=

9= ?=
?=

1= C)f ?=
?=

 2067÷068 cf=j=sf]=

ah]^ ah]^ ah]^ ah]^

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27

ah]^ km/fd g+= 6=12=1=1
/fof]=cf= -s]cd"_ kmf=g+= 1
kfgf g+= 1

jflif{{s sfo{qmd
cf=j= 2067÷068                                  -ah]^ th"{df;+u ;DalGwt cf=k|= lgod 21-1_ adf]lhdsf] kmf/fd_  (/sd ?= xhf/df_ 
ah]^ pklzif{s g++= 38÷3÷406÷38÷4÷406 ;+zf]lwt
dGqfno M pBf]u jflif{s ah]^ cfof]hgfsf] s"n nfut
ljefu . ;+:yf gfd M #/]n" tyf ;fgf pBf]u ljsf; ;ldlt s= cfGtl/s M 1= g]kfn ;/sf/ s= cfGtl/s 1= g]kfn ;/sf/ 
sfo{qmd . cfof]hgfsf] gfd M #/]n" tyf ;fgf pBf]u ljsf; sfo{qmd 2= :yflgo lgsfo÷;+:yf 2= :yflgo lgsfo÷;+:yf
:yfg M 3= hg ;xeflutf 3= hg ;xeflutf

s= lhNnf M s]Gb|:t/ v= j}b]lzs 1= C)f v= j}b]lzs
v= uf=lj=; . g=kf= j*f g+=    2= cg"bfg 2= cg"bfg
cfof]hgf z"? ePsf] ldlt M ;fnj;fnL u= ;^xL b/ M ut cf=j=;Ddsf] vr{ ?=-;f]em} e"QmfgL / j:t"ut ;d]t_
cfof]hgf k"/f x"g] ldlt M s= cfGtl/s 1= g]kfn ;/sf/ 

cfof]hgf sfof{no k|d"vsf] gfd M ljhos'df/ ofbj #= bft[ ;+:yf M 2= :yflgo lgsfo÷;+:yf
3= hg ;xeflutf

v= j}b]lzs
2= cg"bfg

qm=;+= sfo{qmd÷lqmofsnfk OsfO{ n}+lus
ul/aL 
Go'gLs/
)f

cfof]hgfsf] s"n 
lqmofsnfksf]

;Dk")f{ sfo{dWo] ut 
cf=j=;Ddsf] 

 ============== cf=j=sf]   
jflif{s sfo{ nIo

s}lkmot

kl/df)f nfut ef/ ;DkGg 
kl/df)f nfut efl/t 

k|ult kl/df)f k|ult 
cg"dfg

vr{ cg"d
fg

jflif{s nIo k|yd rf}dfl;s nIo bf]>f] rf}dfl;s nIo t]>f] rf}dfl;s nIo

kl/df)f ef/ kl/df)f ef/ kl/df)f ef/ kl/df)f ef/

II k^s 4 1.61 300 2 1.08 200 2 0.54 100

III 3.28 610 1.61 300 1.13 210 0.54 100

IV 1.08 200 0.54 100 0.54 100

V 0.81 150 0.54 100 0.27 50

2 0.40 75 0.27 50 0.13 25

3 26.63 4950 6.46 1200 16.41 3050 3.77 700

I 1.08 200 0.54 100 0.27 50 0.27 50

II 0.54 100 0.54 100

III k^s 1 11.84 2200 1 11.84 2200

IV k^s 2 2.69 500 2 2.69 500

V 1 1 90 2.42 450 60 1.61 300 30 0.81 150

VI 8.07 1500 2.69 500 2.69 500 2.69 500

4 5.38 1000 3.23 600 2.15 400

tflnd k|efjsf/Ltf cWoog

x:tsnf j:t'x?sf] l*hfOg ;+sng / ljsf; tyf ljt/)f / 
l*hfOg k'l:tsf k|sfzg 

rfn" rfn" rfn" rfn" rfn"

kf&\os|d,sfo{s|d ;+rfng lgb]{lzsf, jh]]^ vr{sf] cfwf/ -gD;{_ tof/L 
tyf kl/dfh{g rfn" rfn" rfn" rfn"

pko'Qm k|ljwL ljsf; tyf lj:tf/ rfn" rfn" rfn" rfn"

pko'Qm k|ljwL x:tfGt/)f rfn" rfn" rfn" rfn"

pBf]u k|j${g tyf k|lzIffyL{ /f]huf/ Joj:yfkg sfo{qmd 

pBdL k|j${gfTds k/fdz{ ;]jf rfn" rfn" rfn" rfn" rfn"

pBf]u jfl)fHo tyf jftfj/)f k|zf;g rfn" rfn" rfn"

ahf/ la:tf/, pBdL cGt/lqmof, cf}Bf]lus a:t' tyf k|ljwL k|b{zgL 
Pjd pTs[i& pBdL k'/:sf/ sfo{s|d

gLlt tyf sfo{qmd k|efjsf/Ltf Pj+ ;ldIff uf]i&L

cf}Bf]lus k|bz{gL, dxf]T;j tyf cf}Bf]lus cjnf]sg e|d)f hgf

n#" #/]n" tyf ;fgf pBf]u ultljlw k|rf/ k|;f/ rfn" rfn" rfn" rfn" rfn"

cf}wf]lus u|fd :yFkgfsf nflu cWwog tyf lj:t[t kl/of]hgf k|ltj]bg 
DPR tof/L / k|f/lDes k"jf{wf/ ljsf;    wgs'^f rfn" rfn" rfn" rfn"

cfof]hgf ÷ sfof{no k|d"v ljefuLo ÷ ;+:yf k|d"v k|dfl)ft ug]{

ldlt M ldlt M ldlt M



067.68 Centre.xls (CEN) (3_

1=
2= z"?sf] 
3= 10= ?= 45714 11= ?= 45714
4= ?= 45714 ?= 45714
5= ?= ?=
6=  ?= ?=

?= 1= C)f ?=
?= ?=

7= 12=
8= ?=

9= ?=
?=

1= C)f ?=
?=

 2067÷068 cf=j=sf]=

ah]^ ah]^ ah]^ ah]^

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27

ah]^ km/fd g+= 6=12=1=1
/fof]=cf= -s]cd"_ kmf=g+= 1
kfgf g+= 1

jflif{{s sfo{qmd
cf=j= 2067÷068                                  -ah]^ th"{df;+u ;DalGwt cf=k|= lgod 21-1_ adf]lhdsf] kmf/fd_  (/sd ?= xhf/df_ 
ah]^ pklzif{s g++= 38÷3÷406÷38÷4÷406 ;+zf]lwt
dGqfno M pBf]u jflif{s ah]^ cfof]hgfsf] s"n nfut
ljefu . ;+:yf gfd M #/]n" tyf ;fgf pBf]u ljsf; ;ldlt s= cfGtl/s M 1= g]kfn ;/sf/ s= cfGtl/s 1= g]kfn ;/sf/ 
sfo{qmd . cfof]hgfsf] gfd M #/]n" tyf ;fgf pBf]u ljsf; sfo{qmd 2= :yflgo lgsfo÷;+:yf 2= :yflgo lgsfo÷;+:yf
:yfg M 3= hg ;xeflutf 3= hg ;xeflutf

s= lhNnf M s]Gb|:t/ v= j}b]lzs 1= C)f v= j}b]lzs
v= uf=lj=; . g=kf= j*f g+=    2= cg"bfg 2= cg"bfg
cfof]hgf z"? ePsf] ldlt M ;fnj;fnL u= ;^xL b/ M ut cf=j=;Ddsf] vr{ ?=-;f]em} e"QmfgL / j:t"ut ;d]t_
cfof]hgf k"/f x"g] ldlt M s= cfGtl/s 1= g]kfn ;/sf/ 

cfof]hgf sfof{no k|d"vsf] gfd M ljhos'df/ ofbj #= bft[ ;+:yf M 2= :yflgo lgsfo÷;+:yf
3= hg ;xeflutf

v= j}b]lzs
2= cg"bfg

qm=;+= sfo{qmd÷lqmofsnfk OsfO{ n}+lus
ul/aL 
Go'gLs/
)f

cfof]hgfsf] s"n 
lqmofsnfksf]

;Dk")f{ sfo{dWo] ut 
cf=j=;Ddsf] 

 ============== cf=j=sf]   
jflif{s sfo{ nIo

s}lkmot

kl/df)f nfut ef/ ;DkGg 
kl/df)f nfut efl/t 

k|ult kl/df)f k|ult 
cg"dfg

vr{ cg"d
fg

jflif{s nIo k|yd rf}dfl;s nIo bf]>f] rf}dfl;s nIo t]>f] rf}dfl;s nIo

kl/df)f ef/ kl/df)f ef/ kl/df)f ef/ kl/df)f ef/

5 2.99 555 2.45 455 0.54 100

6 3.01 560 2.47 460 0.54 100

7 1 1 20 5.16 960 20 5.16 960

8 k^s 24 3.28 610 4 0.54 100 12 1.64 305 8 1.10 205

9 2.69 500 1.61 300 0.54 100 0.54 100

10 0.54 100 0.22 40 0.16 30 0.16 30

11 0.89 166 0.31 58 0.27 50 0.31 58

12 15.06 2800 1.71 318 7.89 1466 5.47 1016

I) 2.15 400 0.63 118 0.76 141 0.76 141

II) 1 1 230 7.40 1375 20 0.54 100 120 3.77 700 90 3.09 575

III) 1 1 600 5.51 1025 50 0.54 100 350 3.36 625 200 1.61 300

4 4 830 76.46 14211 70 19.99 3716 470 43.10 8011 290 13.36 2484

100.00 18587 20.53 3816 56.23 10452 23.24 4319

22959 7650 7655 7654

4168 1476 1346 1346

45714 12942 19453 13319

df}/Lkfng >f]t s]Gb| :yfkgf tyf ;+rfng rfn" rfn" rfn" rfn"

l;js y|f]g - *fn]r's_ >f]t s]Gb| :yfkgf tyf ;+rfng rfn" rfn" rfn" rfn"

cGt//fli^«o Jofkf/ d]nf cjnf]sg e|d)f sfo{s|d hgf

sfo{qmd k|efjsf/Ltf cg'udg

sd{rf/L Ifdtf clej[l$ sfo{qmd rfn" rfn" rfn" rfn" rfn"

e– Linkage Joj:yfkg ;+rfng -s]lGb|o ljefu / zfvf_ rfn" rfn" rfn" rfn" rfn"

k/fdz{ tyf cGo ;]jf z'Ns vr{ rfn" rfn" rfn" rfn" rfn"

dlxnf pBdL ljsf; sfo{qmd

pBf]u k|j${g tyf k|lzIffyL{ /f]huf/ Joj:yfkg sfo{qmd rfn" rfn" rfn" rfn" rfn"

pBdL ljsf; sfo{s|d hgf

pBf]u k|j${g sfo{s|d hgf

v_ rfn" vr{ sfo{qmdsf] hDdf 

u_ sfo{qmd vr{tkm{sf] hDdf -s+v_

#_ pkef]u vr{ 

ª_ sfof{no ;+rfng vr{ 

r_ s"n hDdf vr{ -u+#+ª_

cfof]hgf ÷ sfof{no k|d"v ljefuLo ÷ ;+:yf k|d"v k|dfl)ft ug]{

ldlt M ldlt M ldlt M


	chaumasik yearly)

